EE 443 Homework #6

Due: 15 January, 2004

1. Use Monte Carlo simulations to estimate the volume of the intersections of the cylinders 
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 to 2 decimal places of accuracy.

2. Assume that people arrive at a bank at aconstant arrival rate 
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 per unit time and a single teller serves them. The service rate of the teller is 
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 persons per unit time. The customers are served in the order of arrival (FIFO queuing discipline). There is space for all arriving customers if the teller is busy, and all customers wait until they are serviced (i.e., customers do not leave or change their position in the queue). Assume further that 

a. the queue is initially empty,

b. the mean rate of customer arrivals, 
[image: image6.wmf]l

, is 1/1.02 customers per minute,

c. the mean rate of customer service, 
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, is 1/0.95 customers per minute,

d. and the number of customers is 100.

Write a MATLAB Monte Carlo simulation for this code that outputs the expected (average) time a customer spends in the system, W, (i.e., the sum of wait and servicing times). Run your code several times to determine W accurate to 4 decimal places.

Compare your result to the exact result 
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